	1							
Order #	62703966	Flight Dates	12/02/19 - 12/08/19		Update Date		12/16/19	
Syscode	1754	Agency	Access Media Services, LP	\	Version		3 Vs. 2	
System Name	Cox Media/Gulf Coast Alabama U-verse, AL	Advertiser	Club For Growth Action		Show All Lines			
Market	Mobile				Total # of Week	(S		1
		Client Code		╗╒	Total			\$1,025.00
AE	Scott Johnson	Product Code			Commission			\$153.75
Sales Coordinator	Rachel Cohen	Est Code	1275	<b>□</b> [	Net Total			\$871.25
Office	Los Angeles	Product Name	CFGA AL 12.2 - 12.8	╗╒	Total Spots			78
Phone	(310) 254-2220	Credit Status	Cash in Advance		Affiliate Split		100.0	
Status	Not accepted			_ [	Sold On		Cost Per Spot	
Survey	DMA Nielsen Live+SD Sep19	Primary Demo	Adults 35+		GRP	-	GIMP	-
-		Makegood Policy	Approval Required	7	CPP	-	СРМ	-
			•					

Comments :	12.16 Removed dropped spots to match. Please review and confirm. Thanks!

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1		FOX and Friends, America's Newsroom	12/2/19	12/8/19	05:00	09:00	Х	Х	Х	Х	Х			-	-	11	\$10.00	\$110.00	30	-2x NCR 09/30/19-12/29/19
2		America's Newsroom, Outnumbered, The Daily Briefing, Fox News Reporting	12/2/19	12/8/19	09:00	15:00	Х	Х	Х	Х	Х			-	-	16	\$10.00	\$160.00	30	-5x NCR 09/30/19-12/29/19
3		Your World with Cavuto, The Five, Special Report with Bret Baier, The Story	12/2/19	12/8/19	15:00	19:00	Х	Х	Х	Х	Х	Х	Х	-	-	14	\$11.00	\$154.00	30	NCR 09/30/19-12/29/19
4	FXNC	Tucker Carlson, Hannity, The Ingraham Angle, Fox News at Night	12/2/19	12/8/19	19:00	24:00	Х	Х	Х	Х	Х	Х	Х	-	-	21	\$21.00	\$441.00	30	NCR 09/30/19-12/29/19
5	FXNC	VARIOUS	12/2/19	12/8/19	05:00	15:00						Х	Х	-	-	5	\$10.00	\$50.00	30	-1x NCR 09/30/19-12/29/19
6	FXNC	VARIOUS	12/2/19	12/8/19	09:00	15:00				Χ	Χ			-	-	3	\$10.00	\$30.00	30	
7	FXNC	VARIOUS	12/2/19	12/8/19	05:00	15:00						Х	Х	-	-	8	\$10.00	\$80.00	30	

	Dec 2019	Jan 2020	Feb 2020	Mar 2020	Apr 2020	May 2020	Jun 2020	Jul 2020	Aug 2020	Sep 2020	Oct 2020	Nov 2020	Total
SPOTS	78	0	0	0	0	0	0	0	0	0	0	0	78
AMT	\$1,025.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,025.00

STSTEM APP:SALESACCT	SYSTEM APP:	SALES	ACCT	Date Printed	12/16/19
----------------------	-------------	-------	------	--------------	----------

62703966 | Mobile | Cox Media/Gulf Coast Alabama U-verse, AL | 1754 |

Order #	62703966	Flight Dates	12/02/19 - 12/08/19	Update Date		12/16/19		
Syscode	1876	Agency	Access Media Services, LP	Version		3 Vs. 2		
System Name	Cox Media/Eastern Shore, AL	Advertiser	Club For Growth Action	Show All Lines	5			
Market	Mobile		•	 Total # of Wee	ks			1
		Client Code		Total				\$899.00
AE	Scott Johnson	Product Code		Commission				\$134.85
Sales Coordinator	Rachel Cohen	Est Code	1275	Net Total				\$764.15
Office	Los Angeles	Product Name	CFGA AL 12.2 - 12.8	Total Spots				91
Phone	(310) 254-2220	Credit Status	Cash in Advance	Affiliate Split		100.0		
Status	Not accepted		•	 Sold On		Cost Per Spot	•	
Survey	DMA Nielsen Live+SD Sep19	Primary Demo	Adults 35+	GRP	-	GIMP	-	
-		Makegood Policy	Approval Required	CPP	-	СРМ	-	
			•					

Comments :	12.16 Removed dropped spots to match. Please review and confirm. Thanks!

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1		FOX and Friends, America's Newsroom	12/2/19	12/8/19	05:00	09:00	Х	Х	Х	Х	Х			-	-	19	\$8.00	\$152.00	30	-1x NCR 09/30/19-12/29/19
2		America's Newsroom, Outnumbered, The Daily Briefing, Fox News Reporting	12/2/19	12/8/19	09:00	15:00	Х	Х	Х	Х	Х			-	-	21	\$8.00	\$168.00	30	NCR 09/30/19-12/29/19
3		Your World with Cavuto, The Five, Special Report with Bret Baier, The Story	12/2/19	12/8/19	15:00	19:00	Х	Х	Х	Х	Х	Х	Х	-	-	14	\$9.00	\$126.00	30	NCR 09/30/19-12/29/19
4	FXNC	Tucker Carlson, Hannity, The Ingraham Angle, Fox News at Night	12/2/19	12/8/19	19:00	24:00	Х	Х	Х	Х	Х	Х	Х	-	-	21	\$14.00	\$294.00	30	NCR 09/30/19-12/29/19
5	FXNC	VARIOUS	12/2/19	12/8/19	05:00	15:00						Х	Х	-	-	10	\$8.00	\$80.00	30	NCR 09/30/19-12/29/19
6	FXNC	VARIOUS	12/2/19	12/8/19	19:00	24:00				Χ	Χ	Χ	Х	-	-	5	\$14.00	\$70.00	30	
7	FXNC	VARIOUS	12/2/19	12/8/19	15:00	19:00				Х	Х	Х	Х	-	-	1	\$9.00	\$9.00	30	

	Dec 2019	Jan 2020	Feb 2020	Mar 2020	Apr 2020	May 2020	Jun 2020	Jul 2020	Aug 2020	Sep 2020	Oct 2020	Nov 2020	Total
SPOTS	91	0	0	0	0	0	0	0	0	0	0	0	91
AMT	\$899.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$899.00

SYSTEM APP:	SALES	ACCT	Date Printed	12/16/19

62703966 | Mobile | Cox Media/Eastern Shore, AL | 1876 |

Order #	62703966	Flight Dates	12/02/19 - 12/08/19	Update Date		12/16/19		
Syscode	1878	Agency	Access Media Services, LP	Version		3 Vs. 2		
System Name	Cox Media/Gulf Shores, AL	Advertiser	Club For Growth Action	Show All Lines	3	-		
Market	Mobile			Total # of Wee	eks			1
		Client Code		Total				\$883.00
AE	Scott Johnson	Product Code		Commission				\$132.45
Sales Coordinator	Rachel Cohen	Est Code	1275	Net Total				\$750.55
Office	Los Angeles	Product Name	CFGA AL 12.2 - 12.8	Total Spots				89
Phone	(310) 254-2220	Credit Status	Cash in Advance	Affiliate Split		100.0		
Status	Not accepted			Sold On		Cost Per Spot		
Survey	DMA Nielsen Live+SD Sep19	Primary Demo	Adults 35+	GRP	-	GIMP	<b>-</b>	
-		Makegood Policy	Approval Required	CPP	-	СРМ	<u> </u>	
Comments :	12.16 Removed dropped spots to match. Please re	eview and confirm. Thanks!						

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	FXNC	FOX and Friends, America's Newsroom	12/2/19	12/8/19	05:00	09:00	Х	Х	Х	Х	Х			-	-	20	\$8.00	\$160.00	30	NCR 09/30/19-12/29/19
2	FXNC	America's Newsroom, Outnumbered, The Daily Briefing, Fox News Reporting	12/2/19	12/8/19	09:00	15:00	Х	Х	Х	Х	Х			-	-	20	\$8.00	\$160.00	30	-1x NCR 09/30/19-12/29/19
3	FXNC	Your World with Cavuto, The Five, Special Report with Bret Baier, The Story	12/2/19	12/8/19	15:00	19:00	Х	Х	Х	Х	Х	Х	Х	-	-	14	\$9.00	\$126.00	30	NCR 09/30/19-12/29/19
4	FXNC	Tucker Carlson, Hannity, The Ingraham Angle, Fox News at Night	12/2/19	12/8/19	19:00	24:00	Х	Х	Х	Х	Х	Х	Х	-	-	21	\$14.00	\$294.00	30	NCR 09/30/19-12/29/19
5	FXNC	VARIOUS	12/2/19	12/8/19	05:00	15:00						Х	Х	-	-	8	\$8.00	\$64.00	30	-2x NCR 09/30/19-12/29/19
6	FXNC	VARIOUS	12/2/19	12/8/19	19:00	24:00				Χ	Х	Х	Х	-	-	5	\$14.00	\$70.00	30	
7	FXNC	VARIOUS	12/2/19	12/8/19	15:00	19:00				Х	Х	Х	Х	-	-	1	\$9.00	\$9.00	30	

	Dec 2019	Jan 2020	Feb 2020	Mar 2020	Apr 2020	May 2020	Jun 2020	Jul 2020	Aug 2020	Sep 2020	Oct 2020	Nov 2020	Total
SPOTS	89	0	0	0	0	0	0	0	0	0	0	0	89
AMT	\$883.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$883.00

STSTEM APP:SALESACCT	SYSTEM APP:	SALES	ACCT	Date Printed	12/16/19
----------------------	-------------	-------	------	--------------	----------

62703966 | Mobile | Cox Media/Gulf Shores, AL | 1878 |

62703966	Flight Dates	12/02/19 - 12/08/19	Lin	data Data		40/40/40		
		1 - 1 - 1 - 1 - 1 - 1 - 1 - 1	Job	date Date		12/16/19		
1879	Agency	Access Media Services, LP	Ver	rsion		3 Vs. 2		
Cox Media/Milton-Pace, FL	Advertiser	Club For Growth Action	Sho	ow All Line	s	•		
Mobile		•	Tot	tal # of We	eks			1
	Client Code		Tot	tal				\$810.00
Scott Johnson	Product Code		Coi	mmission				\$121.50
Rachel Cohen	Est Code	1275	Net	t Total				\$688.50
Los Angeles	Product Name	CFGA AL 12.2 - 12.8	Tot	tal Spots				84
(310) 254-2220	Credit Status	Cash in Advance	Affi	iliate Split		100.0		
Not accepted		•	Sol	ld On		Cost Per Spo	t	
DMA Nielsen Live+SD Sep19	Primary Demo	Adults 35+	GR	₹P	-	GIMP	-	
	Makegood Policy	Approval Required	СР	PP	-	СРМ	-	
	Mobile  Scott Johnson  Rachel Cohen  Los Angeles (310) 254-2220  Not accepted	Mobile  Client Code  Scott Johnson  Rachel Cohen  Los Angeles (310) 254-2220  Not accepted  DMA Nielsen Live+SD Sep19  Client Code  Product Code  Est Code  Product Name  Credit Status  Primary Demo	Client Code	To   Client Code   To   Code   Code	Total # of West	Total # of Weeks   Total # of Weeks	Mobile         Total # of Weeks         Total           Scott Johnson         Product Code         Commission           Rachel Cohen         Est Code         1275           Los Angeles         Product Name         CFGA AL 12.2 - 12.8         Total Spots           (310) 254-2220         Credit Status         Cash in Advance         Affiliate Split         100.0           Not accepted         Sold On         Cost Per Spo           DMA Nielsen Live+SD Sep19         Primary Demo         Adults 35+         GRP         -         GIMP	Total # of Weeks   Total # of Weeks   Total   Scott Johnson   Product Code   Commission   Rachel Cohen   Est Code   1275   Net Total   Total Spots   Credit Status   Cash in Advance   Affiliate Split   100.0   Sold On   Cost Per Spot   DMA Nielsen Live+SD Sep19   Primary Demo   Adults 35+   GRP   - GIMP   -

Comments : 12.16 Removed dropped spots to match. Please review and confirm. Thanks!

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	FXNC	FOX and Friends, America's Newsroom	12/2/19	12/8/19	05:00	09:00	Х	Х	Х	Х	Х			-	-	16	\$8.00	\$128.00	30	-2x NCR 09/30/19-12/29/19
2		America's Newsroom, Outnumbered, The Daily Briefing, Fox News Reporting	12/2/19	12/8/19	09:00	15:00	Х	Х	Х	Х	Х			-	-	20	\$8.00	\$160.00	30	-1x NCR 09/30/19-12/29/19
3		Your World with Cavuto, The Five, Special Report with Bret Baier, The Story	12/2/19	12/8/19	15:00	19:00	Х	Х	Х	Х	Х	Х	X		1	13	\$9.00	\$117.00	30	-1x NCR 09/30/19-12/29/19
4		Tucker Carlson, Hannity, The Ingraham Angle, Fox News at Night	12/2/19	12/8/19	19:00	24:00	Х	Х	Х	Х	Х	Х	X	ı	ı	21	\$13.00	\$273.00	30	NCR 09/30/19-12/29/19
5	FXNC	VARIOUS	12/2/19	12/8/19	05:00	15:00						Х	Х	-	-	10	\$8.00	\$80.00	30	NCR 09/30/19-12/29/19
6	FXNC	VARIOUS	12/2/19	12/8/19	19:00	24:00				Χ	Χ	Χ	Х	-	-	4	\$13.00	\$52.00	30	

	Dec 2019	Jan 2020	Feb 2020	Mar 2020	Apr 2020	May 2020	Jun 2020	Jul 2020	Aug 2020	Sep 2020	Oct 2020	Nov 2020	Total
SPOTS	84	0	0	0	0	0	0	0	0	0	0	0	84
AMT	\$810.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$810.00

SYSTEM APP:	SALES	ACCT	Date Printed	12/16/19
3131EW ALT.	5ALLO	A001	Date i illiteu	12/10/13

62703966 | Mobile | Cox Media/Milton-Pace, FL | 1879 |

Order #	62703966	Flight Dates	12/02/19 - 12/08/19	Update Date		12/16/19		
Syscode	1881	Agency	Access Media Services, LP	Version		3 Vs. 2		
System Name	Cox Media/Mobile Metro, AL	Advertiser	Club For Growth Action	Show All Lines	i			
Market	Mobile		•	 Total # of Wee	ks			1
		Client Code		Total				\$1,817.00
AE	Scott Johnson	Product Code		Commission				\$272.55
Sales Coordinator	Rachel Cohen	Est Code	1275	Net Total				\$1,544.45
Office	Los Angeles	Product Name	CFGA AL 12.2 - 12.8	Total Spots				86
Phone	(310) 254-2220	Credit Status	Cash in Advance	Affiliate Split		100.0		
Status	Not accepted		•	Sold On		Cost Per Spot		
Survey	DMA Nielsen Live+SD Sep19	Primary Demo	Adults 35+	GRP	-	GIMP	-	
-		Makegood Policy	Approval Required	CPP	-	СРМ	<u> </u>	

Comments: 12.16 Removed dropped spots to match. Please review and confirm. Thanks!

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	FXNC	FOX and Friends, America's Newsroom	12/2/19	12/8/19	05:00	09:00	Х	Х	Х	Х	Х			-	-	17	\$13.00	\$221.00	30	-1x NCR 09/30/19-12/29/19
2		America's Newsroom, Outnumbered, The Daily Briefing, Fox News Reporting	12/2/19	12/8/19	09:00	15:00	Х	Х	Х	Х	Х			-	-	19	\$16.00	\$304.00	30	-2x NCR 09/30/19-12/29/19
3		Your World with Cavuto, The Five, Special Report with Bret Baier, The Story	12/2/19	12/8/19	15:00	19:00	Х	Х	Х	Х	Х	Х	Х		ı	14	\$18.00	\$252.00	30	NCR 09/30/19-12/29/19
4		Tucker Carlson, Hannity, The Ingraham Angle, Fox News at Night	12/2/19	12/8/19	19:00	24:00	Х	Х	Х	Х	Х	Х	Х	1	1	21	\$34.00	\$714.00	30	NCR 09/30/19-12/29/19
5	FXNC	VARIOUS	12/2/19	12/8/19	05:00	15:00						Х	Х	-	-	8	\$15.00	\$120.00	30	-2x NCR 09/30/19-12/29/19
6	FXNC	VARIOUS	12/2/19	12/8/19	19:00	24:00				Χ	Χ	Χ	Х	-	-	5	\$34.00	\$170.00	30	
7	FXNC	VARIOUS	12/2/19	12/8/19	15:00	19:00				Χ	Χ	Χ	Х	-	-	2	\$18.00	\$36.00	30	

	Dec 2019	Jan 2020	Feb 2020	Mar 2020	Apr 2020	May 2020	Jun 2020	Jul 2020	Aug 2020	Sep 2020	Oct 2020	Nov 2020	Total
SPOTS	86	0	0	0	0	0	0	0	0	0	0	0	86
AMT	\$1,817.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,817.00

SYSTEM APP:	_ SALES	ACCT	Date Printed	12/16/19
-------------	---------	------	--------------	----------

62703966 | Mobile | Cox Media/Mobile Metro, AL | 1881 |

Order #	62703966	Flight Dates	12/02/19 - 12/08/19	Upo	late Date		12/16/19		
Syscode	1882	Agency	Access Media Services, LP	Vers	sion		3 Vs. 2		
System Name	Cox Media/Monroeville, AL	Advertiser	Club For Growth Action	Sho	w All Line	s			
Market	Mobile			Tota	al # of We	eks			1
		Client Code		Tota	al				\$687.00
AE	Scott Johnson	Product Code		Con	nmission				\$103.05
Sales Coordinator	Rachel Cohen	Est Code	1275	Net	Total				\$583.95
Office	Los Angeles	Product Name	CFGA AL 12.2 - 12.8	Tota	al Spots				89
Phone	(310) 254-2220	Credit Status	Cash in Advance	Affil	iate Split		100.0		
Status	Not accepted			Solo	d On		Cost Per Spot		
Survey	DMA Nielsen Live+SD Sep19	Primary Demo	Adults 35+	GRI	)	-	GIMP	-	
-		Makegood Policy	Approval Required	СРГ	)	-	СРМ	<u> </u>	
		<del></del>				•	•		

Comments :	12.16 Removed dropped spots to match. Please review and confirm. Thanks!

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	FXNC	FOX and Friends, America's Newsroom	12/2/19	12/8/19	05:00	09:00	Х	Х	Х	Х	Х			-	-	20	\$6.00	\$120.00	30	NCR 09/30/19-12/29/19
2	l	America's Newsroom, Outnumbered, The Daily Briefing, Fox News Reporting	12/2/19	12/8/19	09:00	15:00	Х	Х	Х	Х	Х			-	-	20	\$6.00	\$120.00	30	-1x NCR 09/30/19-12/29/19
3		Your World with Cavuto, The Five, Special Report with Bret Baier, The Story	12/2/19	12/8/19	15:00	19:00	Х	Х	Х	Х	Х	Х	X		-	14	\$8.00	\$112.00	30	NCR 09/30/19-12/29/19
4		Tucker Carlson, Hannity, The Ingraham Angle, Fox News at Night	12/2/19	12/8/19	19:00	24:00	Х	Х	Х	Х	Х	Х	X	ı	-	21	\$11.00	\$231.00	30	NCR 09/30/19-12/29/19
5	FXNC	VARIOUS	12/2/19	12/8/19	05:00	15:00						Х	Х	-	-	10	\$6.00	\$60.00	30	NCR 09/30/19-12/29/19
6	FXNC	VARIOUS	12/2/19	12/8/19	19:00	24:00				Χ	Χ	Х	Х	-	-	4	\$11.00	\$44.00	30	

	Dec 2019	Jan 2020	Feb 2020	Mar 2020	Apr 2020	May 2020	Jun 2020	Jul 2020	Aug 2020	Sep 2020	Oct 2020	Nov 2020	Total
SPOTS	89	0	0	0	0	0	0	0	0	0	0	0	89
AMT	\$687.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$687.00

SYSTEM APP:	SALES	ACCT	Date Printed	12/16/19

62703966 | Mobile | Cox Media/Monroeville, AL | 1882 |

Order #	62703966	Flight Dates	12/02/19 - 12/08/19	Update Date		12/16/19					
Syscode	1885	Agency	Access Media Services, LP		Version		3 Vs. 2				
System Name	Cox Media/West Mobile, AL	Advertiser	Club For Growth Action		Show All Lines						
Market	Mobile				Total # of Wee	ks	1				
	-	Client Code		Total		\$868.00					
AE	Scott Johnson	Product Code			Commission			\$130.20			
Sales Coordinator	Rachel Cohen	Est Code	1275		Net Total		\$737.80				
Office	Los Angeles	Product Name	CFGA AL 12.2 - 12.8		Total Spots						
Phone	(310) 254-2220	Credit Status	Cash in Advance		Affiliate Split		100.0				
Status	Not accepted		•		Sold On		Cost Per Spot				
Survey	DMA Nielsen Live+SD Sep19	Primary Demo	Adults 35+		GRP	-	GIMP	-			
-	•	Makegood Policy	Makegood Policy Approval Required		CPP	-	СРМ	-			

Comments: 12.16 Removed dropped spots to match. Please review and confirm. Thanks!

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	FXNC	FOX and Friends, America's Newsroom	12/2/19	12/8/19	05:00	09:00	Х	Х	Х	Х	Х			-	-	19	\$8.00	\$152.00	30	-1x NCR 09/30/19-12/29/19
2		America's Newsroom, Outnumbered, The Daily Briefing, Fox News Reporting	12/2/19	12/8/19	09:00	15:00	Х	Х	Х	Х	X				ı	21	\$8.00	\$168.00	30	NCR 09/30/19-12/29/19
3		Your World with Cavuto, The Five, Special Report with Bret Baier, The Story	12/2/19	12/8/19	15:00	19:00	Х	Х	Х	Х	Χ	Х	X		1	14	\$9.00	\$126.00	30	NCR 09/30/19-12/29/19
4	FXNC	Tucker Carlson, Hannity, The Ingraham Angle, Fox News at Night	12/2/19	12/8/19	19:00	24:00	Х	Х	Х	Х	Х	Х	Х			21	\$14.00	\$294.00	30	NCR 09/30/19-12/29/19
5	FXNC	VARIOUS	12/2/19	12/8/19	05:00	15:00						Х	Х	-	-	9	\$8.00	\$72.00	30	-2x NCR 09/30/19-12/29/19
6	FXNC	VARIOUS	12/2/19	12/8/19	19:00	24:00				Χ	Χ	Χ	Х	-	-	4	\$14.00	\$56.00	30	

	Dec 2019	Jan 2020	Feb 2020	Mar 2020	Apr 2020	May 2020	Jun 2020	Jul 2020	Aug 2020	Sep 2020	Oct 2020	Nov 2020	Total
SPOTS	88	0	0	0	0	0	0	0	0	0	0	0	88
AMT	\$868.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$868.00

SYSTEM APP:	SALES	ACCT	Date Printed	12/16/19

62703966 | Mobile | Cox Media/West Mobile, AL | 1885 |